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Note :

ECONOMICS
PAPER - I1I

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

A recessionary gap measures the :

(1) amount by which autonomous spending is below to that needed to achieve a full
employment equillibrium

(2) amount by which aggrigate spending exceeds to that needed to achieve full employment

(3) difference in real output between the classical model and the keynesian depression
model.

(4) Extent of paradox of thrift

2. How many countries are the members of European Union ?
(1) 25 (2) 28 (3) 26 4) 15
3.  Identify the factors which are likely to pose risk to India’s external economic situation :
(a) U.S. Federal Reserve monetory tightening expected later this year (2015).
(b)  Viability of the Eurozone in the event of a Greek exit
(c) Spike in oil prices
(d) Increase in India’s share in global exports.
Find the correct combination from the given codes :
(1) @and(®) ) @ G)and(© (@) () (@and(d) (4 (a)and (d)
4.  Monetary policy in India now aims at targeting :
(1) Growth of money supply (2) Consumer price inflation
(3) neither (1) nor (2) (4) Both (1) and (2)
5.  Match List - I with List - IT and show the relation between trade cycle and profit by selecting
correct codes given below.
List - I List - II
(a) Recession (i) Low
(b) Boom (ii) Positive
() Recovery (iii) Highestlevel
(d) Depression (iv) Negative
Codes :
@ b (© (@
i) @) 6 @
(2) (@) @) (i) (iv)
(3) (v) (i) (i) (1)
@ @ @ @) (@)
6. Inrelative income hypothesis consumption is related to :
(1) Peak past consumptions (2) Median current consumption of peer group
Neither (1) nor ( (4) Both (1) and (2)
HII“IIHIIIIHIH\II\ HI\I\II\IHIHHIIHI\ z Fapeca
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fder: =8 yvAs ® veEs (75) 9g-fawedd 9 ¥ 1 U U9 % eF (2) ik €1 |l v arfard ¥

1. SEgR-3fae f= § 9 fF8 A €2
(1) ol USFIR I A & FF IRA § @as &9 foha1 w7 @1
(2) YUl USFIR 1 YT i 7q &9 | Hohel o9 feoha1 Afea @1

(3) FAMIHIT Aled H SRfdeh IcaeT a2l Hhweh1d Hal Hied H drdioesh 3cdQ H Sl

(4) THaeEFar 9 foRigrame =1 7™
2. AR g & 19 fhae wew €2

1) 25 2) 28 3) 26 4) 15
3. 3 wRaI &I 3T IS S 9RG w1 o enfies feafa & fere Sifem w6 el w5 T ©
(a) . TH. Hea Rod gr 38 a9 (2015) & ST # Hifgew w9re wt G
(b) Tk o FUSHA § e et T U i HTER]
(c) da wimdl | IsTA
d) favafmia & wrdra fafa & fe # 3

T TE GA A o e | S
(1) (a) 1 (b) 2 @ @7 (B) (b)(TA(d) 4 (a)F(d)
4. 9RG ¥ Hifge fifd & deF o9 T
(1) 19 1 afs (2) ST A qEERf
(3) T @) AR (2) (4) (1) qeM (2) <A
5. Ol -1 % gEl - 1 9 UR % a9 oy &1 feafd 61 gafaa = = fae 3 9 s
el - 1 et - 11
(a) 3TIHER G =
(b) IRd (ii)  GATCH®
() TTecam (ili) T TR
d) = (iv) o (Fda)
%< :
@@ (b) () (d)
1 @) (@Gv) @ (i)
2 @ (@) @) ()
®) (v) (i) @) ()
4) @ (@) (D) (i)
6.  QTUET ST URehTTAT § SN STenfid B |
(1) gar= ford g« (2) HHHE T & TAHM SUHN T HIfEAH HH
(3) Fd (1) ARTE (2 (4) (1) 7 (2) <
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7.  Monetary expansion can still be effective in getting out of liquidity trap if it's combined
with :
(1) Restrictions on bank loans (2) Increased taxes
(3)  Contractionary fiscal policy (4) Expansionary fiscal policy
8.  If a linear consumption function passes through the origin it means :
(1) APC > MPC (2) APC < MPC
(3) APC=MPC (4) APC=MPC=0
9.  According to Keynes the Aggregate suppy curve during depression :
(1) is horizontal (2) is Vertical
(3) tilts downward to the right (4) tilts upward to the right
10. Identify the transfer payments in the following and answer from the codes below :
(a) Annual increment in salary
(b) Payment of bonus to employees
(c) Interest payment on public debt
(d) Pension payment
Codes :
1) ©and(d (2 () (© and (d) () (@and(®) 4 (a)and
11. Technical progress is said to be Hicks Capital intensive if at constant capital labour ratio
MRTS| y :
(1) remains constant (2) decreases
(3) increases (4) none of (1), (2) and (3) are relevant
12. In the theory of investment decisions, the most appropriate rate of return is the one which
makes the :
(1) net present value the maximum (2) gross present value the maximum
(3) net present value zero (4) gross present value zero
13. Correct statement of cob-web model is :
(1) S¢=ag+bgp, ; D= —co—dgpy (2)  Sy=agtbop,_q; Dy=cy—dgp;
(3)  S¢=ag—bgpy_1; Dy=cp+dgp; (4)  S¢=ag—bgpy_1; Dy=cp—dgP;—1
14. ‘Adverse selection” arises because of :
(1) Lack of information (2) Wrong information
(3) Asymmetrical information (4) Uncertainty of future
15. Shadow prices can be called :
(1) Imputed cost (2)  Opportunity cost
(3) both (1) and (2) (4) neither (1) or (2)
16. Walra’s general equilibrium model uses a :
(1) system of equations
(2) system of simulteneous linear equations
(3 ) system of simulteneous equations
(4) system of linear equations
vous [[[HHITHIATRRNII . papern




10.

11.

12.

13.

14.

15.

16.

el S ¥ e # Hifgss fawr 7 ot gerd & gl § 56 98 Ssirel 9
(1) % o | yfqedi 9 (2) TCTLHIH

(3) EEgEsiel TsTeRTsE ifd (4) foeaR g TSIV ifd

e I9HN Herd qa foig | Toem 5 ¢

1) THHE>THAH (2) THH < T\
(B) THH = HAH (4) THH = WU H =0

= % STTER TIHE H el Ifd a5k o Hohell ©

1) &fas 2) == (3) TE SR I FHAT I (4) 18 AR I Tl gl
T forg e § gEiana o &l fafgd Fsm T

(a) a9 H =i gfg

(b) TR 1 STE YITAH

(c) HESIH R W AN

(d) UET Y=

hc:

(1) (o) @& (d) (2)  (b), (c) @ (d) (3) (a) @ (b) (4) (a) T (o)
qerTeh! IATfd <Rl Teora STt 9ema el SR, Ste feer it 5w s1ard 9 gwent geit o gfd gfaes
l

1) &= (2) ® ST

3) G 4) (1), (2) T (3) H H1E WA T 2

e ot & fagia & T Swga gfawa <X 98 § S o1t ¢
(1) o ad|™ 3™ = SAfahad (2) HHA IdHHA A Hl R

@) T ad9m qea = g (4) HHd IGHH I Fl I

F1E-J9 AIed &1 Tel Fequ fAfafead § @6 €

(1) Sy=ag+bgp ; Dy= —co—dopy (2)  Sy=agtbpp;_1; Dy=co—dgp;
(3)  S¢=ag—bgp;_1; Dy=cy+dop; (4) S\ =20~ boP¢_1; Dt_CO dope—1
‘gfqhet =ae’ I B § i

(1) = 1 A9 & (2) T gET

(3) AT AT U B (4) wfos siffyea &

ST HTwdl 1 el ST qehel ©

(1) Sfad arTd (2) STEHX AR

(3) (1) R (2) <= (4) (1) 3R (2) B 9 FE ot 72

A o | Hqad Ared | fohdeh! STRT foRan S § 2

(1) GHrRToT yoredt (2)  FUd T HHHTO Yot

(3) Y HHIHIUT Yot (4) TG GHiR goret
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17.

18.

19.

20.

21.

(3) (b)
yous ]I

Which of the following is an inferior good ?
(1) Kerosine (2) Cooking gas
(3)  Electricity (4) Chemical fertilizers

Pareto optimality in production is gained in which of the following conditions ?

MRTS X = MRTS " MRS > = MRS >

(1) LK LK (2) Xy - Xy
K L MP,  MPg
(3) MRS, =MRT,, @ p T TR

Match List - I (consumer behaviour approach) with List - II (Economist with whom it is
associated) and select the correct answer using the codes given below :

List - I List - II
(a) Cardinal Approach (i) Von Newman Morgenstein
(b) Indifference curve (i) Alfred Marshell
() Revealed Preference Approach (iii) J. K. Hicks
(d) Neo-utility theory of risky choices (iv) P. A. Samuelson
Codes :

(@ (b) (9 (d)
1 G @) @ (@0
(2) @) @@ @ ()
() G) () @) @)
4) (@) @) @) O

Which one of the following is the correct concept of Natural rating unemployment ?
(1) Frictionally and structurally unemployed

(2)  Frictionally and cyclically unemployed
(3)  Structurally and cyclically unemployed
(4) Frictionally, cyclically and structurally unemployed

Consider the following statements :

(a) Points to the left of the IS curve indicate excess supply of goods.

(b) Points to the right of the LM curve indicate excess demand for money.
(c) Points to the right of the IS curve indicate excess supply of money.

(d) Points to the right of the IS curve indicate excess supply of goods.

Of these statements :

(1) (b) and (d) are correct (2) (a) and (c) are correct

and (c) are correct (4) (c) and (d) are correct

)
U
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17. fr=Afafed # @ S © ey o T2
(1) e (2) EE ™ (3) foaswef (4) TEEME 3o
18. frAfafea # @ forad s § T2l 1 Suand U &t St § 2
(1) MRTSi(K = MRTSEK 2) MRSXAY = MRS)?Y
K L MP,  MPg
(3) MRSXY = MRTXY (4) ? = P
19. et - 1 (SUsioal Feer aIfmm) &1 Gelt - 11 (STefursial, iS5 g 98 dog §) & 9™
e &Y SR 9 foU MU F2i 1 3T FA YL TE W A |
T - 1 T - 11
(a) T ST () @ = HReR
(b) T (i) oThE AR
(c) Yefea sAfemm fagia (iii) <t %. feom
(d) SifETgE === &1 T9-39Aitar fagia (iv) . T ITEE
bl (@ () () (d)
1 G @) @ (@)
2 @) @) @ ()
®) G () (@) ()
(4) (D) @) (@) ()
20. freAfafEd § @ Wepfash SRISFIRT X 1 SIE! TR 9el € 2
(1) FHUTHE €9 9 3R GRS §1 § SRS
(2) FHUTHE €9 § 3R TR T F ISR
(3) TS €Y H AR T T F ISR
(4) EHUTCHS, TR AR HEATHS T F ISR
21. fr=fafed wol | fomm 3 :
(a) ISk & T TF o fag aeqall &1 Tafe smyfd wI STa wd €
(b) LM 3% % T§ T o fag 1 i Tcafees Wi &1 3T Fd ©
(c) IS & TE WE & fdg a1 T TS A 1 I & ©
(d) IS dH % TE WE & fog awgei w1 sTcafew omyfd = 3 *a §
TR HY :
(1) (b) 3R (d) W E @ (a) ¥R () T ¥
(3) (b) I () WEE @) (o) o (d) W §
rouss [ R AU ;




22. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II

(a) C=40+0.7y (i) LM function
(b) I=90-61i (i) IS function
() 03y—20i—160=0 (iii) Consumption function
(d) 0.3y+20i—150=0 (iv) Investment function
Codes :
@@ (b) (o) (d)
W) @ @) O @
@ (v G (@ @
@) (v O @ (i)
@) @) @) @ 0
23. In a linear programming problem, an optimum solution will be :
(1)  One of the basic solutions (2)  One of the feasible solutions
(3)  One of the basic feasible solutions (4)  One of the non-basic solutions

24. Human capital formation can be accelerated by :
(1) Promoting skill development programmes
) Providing medical and health facilities in both rural and urban areas.
(3)  Strengthening hardware and software industry.
(4) (1) and (2) above.

25. What is the correct sequence for the evolution of society according to Karl Marx ?

(a) Socialism (b) Slavery () Feudalism (d) Capitalism
Codes :

(1) (@), (b), (c) and (d) 2)  (d), (c), (b) and (a

(3)  (b), (9) (d) and (a) 4)  (¢), (d), (b) and (a)

26. The unbalanced growth strategy is based on :

(1) External and Internal economies

(2) Spread and backwash effects
(3) Increasing and constant returns to scale
(4) Backward and forward linkages

27. Financial dualism theory was developed by :
B. Higgins (2) H. Myint (3) W. A. Lewis (4) R. Nurkse

H||H||H||||H||||H\ (L EHE

@
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22.

23.

24.

25.

26.

27.

T - 1 G - 11 % 91 e & of) = for T e § 8 s S

T - 1 T - 11
(a) C=40+0.7y (i) LM e
(b) 1=90-6i (i) IS wed
() 0.3y—20i—160=0 (iti) STHNT T
(d) 0.3y+20i—150=0 (iv) T wed
< :
(@ () (9 (d
1 @) Gv) @ (i)
2) (@v) @) @) @
G) @) @@ @) (i)
(4) @) (@Gv) @) ()
G W g | T SEa T e
(1) ¥ IHEH H | T (2) weF FEHEE A 9 T
(3) T A HHIEE H 9§ T (4) TR-7a TEYE § | T
e gt frmtor & I<i o S Hehd ® -

(1) = e FHREA ®1 TR S

(2) T SR vRd ST el § fafea iR wmee gfaumd yem W
(3) TSR SR WTESTR e Tl ASad a1 T

(4) W (1) 3R (2)

el AT % STTER A o ToenTe o1 Tl s o1 & 2

(a) FHNER (b) Ml (c) WHddR (d) gsiters
Eclg_d':

(1) (), (b), (c) &R (d) 2) () (), (b) R (a)

(3)  (b), (0, (d) ¥R (a) 4) (), (d), (b) 3R (a)

TG qfad Gafg wHfa smefa ® -

(1) 9 3R eTdfe faqerarsti 2) ToR SR T guE W
(3) ¥ed U AR feer YU & gfawdl W (4) OwTHT AR STATHT ST ET W

fa<ira gdqare fagia feas g faemfaa foam T .
(1) st e (2) TH. HE= (3) T TS (4) AN W
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28. Which among the following production function will exhibit both Hicks and Harrod technical
progress ?
(1) Leontieff production functions
(2) Cobb - Douglas production functions
(3) ACMS production functions
(4) None of the above
29. The concept of X-efficiency was formulated by :
(1) H.Singer (2) H. Leibenstein (3) R. Rodan (4) C. Kindleberger
30. Which among the following items has the largest value of exports in India during 2013-15 ?
(1) Engineering goods
(2) Garments
(3) Gems and Jewellary
(4) Agro-processing exports.
31. Which among the following is not correctly matched ?
(1) Golden age : Mrs. Joan Robinson
(2) Golden rule of
accumulation : Edmund Phelfs
(3) Steady state growth Robert Solow
(4) Low income
equillibrium trap : T. R. Malthus
32. Who among the following economists is not associated with the Dependency Theory ?
(1) S. Amin (2) P. Baron
(3) Raul Prebisch (4) A.G. Frank
33. Which one of the following is not a feature of neoclassical economics ?
(1) Flexible wages and interest rates
(2) Capital in physical and financial form
(3) Perfect Competetion
(4) Neutrality of money
34. Renewed focus to control increasing population is required from the viewpoint of women
because :
(1) Family planning programme needs to be reoriented keeping in view the reproductive
health rights of women.
(2) Increased budget needed to provide quality services to women.
(3) Increased number of women councellers needed for health and youth friendly services.
All of the above.
T




28. Tr=fafad § 9 w99 ST o, o R 20 SH1 &1 928 qoh1eh! YIIfd Jefeid O ¢
(1) fasfif=® e werd (2) € - STAH IATET Feld
(3) T . TH. TH. SHRA e (4) W H 9 & o &
29. TH - THAI HI STAURN T 511 foasfaa &1 7 -
1) = fam 2) T A
(3) oM TeA (4) . fheemEsi
30. frfafed 7di § & fmet 2013 - 15 % RH 9RA & i & faemadd qea @1 e -
(1) fefafe gl = faf (2) uRym (TRAH) w1
(3) I 3R smqui w1 fata (4) FY - JHRd IRl A1 AW
31. frAfafed & @ fras faam w72 %2
(1) @i g D o S e
(2) o w1 @ ;. ueHe oW
(3) WS ofaed § "yfg © YR gt
(4) A A G ST ;A AR Ao
32. frfafed § @ =@ @ srefemsh ‘frsfa fagia’ @ Has T €2
(1) TE. A @) e\
(3) T fuferer @) T s
33. frAfafed # @ SAE Ta-Ferfama STeiemes &1 foga =& €2
(1) oTie 7eigy IR & & (2) g IR foxfta w0 # gsit
(3) ot et (4)  HE HI A
34. Afgened & A | Fedl THEE & =0 R F6H Tl § AAfs & < S8 © Flh
(1) wfgenel % yora W SAfwR o 2 | W ge IiEr e srsa & 78 fomm <
HATTTIF T |
(2) Tfgensii 1 TUEREE JaTC YoM HH & fau s § gig seavas ¥l
(3) @A 3R gar-fed qanet & fou Afeen woeRmst ®t 9en | gig e 7
(4) S Gt
rouss [ AT HIMINANI . Papec



35. Match List - I with List - IT and select the correct answer :
List - I List - II
(a) Supply side of international trade (i) David Ricardo
(b) Demand side of international trade (i) Bastable and Alfred Marshall
(c) Opportunity cost of international trade (iii) G. Haberler
(d) Real cost theory of International trade (iv) Alfred Marshall and Edgeworth
Codes :
@@ (b) (o (d)
O O ) @
@ O (v G G
@) ) O @ )
@ ) O G G
36. Justice in taxation is best ensured by applying the principle of :
(1) Equal marginal sacrifice (2) Equal proportional sacrifice
(3) Equal absolute sacrifice (4) None of the above.
37. All the funds which belong to Government go to :
(1) Public Account (2) Consolidated fund
(3) Contigency fund (4) Revenue Account
38. During the period 2004 and 2013, India’s share in global exports increased from :
(I) 0.8 percent to 1.7 percent (2) 1.0 percent to 2.5 percent
(3) 1.0 percent to 1.5 percent (4) 1.2 percent to 2.1 percent
39. ‘Gender budgeting’ means :
(1) a seperate budget for women (2) atool for gender empowerment
(3) atool for gender discrimination (4) a seperate budget for men and women.
40. Which sector in India has developed breaking the Colin Clark sequence of development ?
(1) Export Sector (2) Primary Sector
(3) Secondary Sector (4) Service Sector
41. Match List - I with List - II by selecting correct codes given below :
List - I List - II
(a) Liquidity trap (i) M. Friedman
(b) Demonstration effect (i) A.C.Pigou
() Permanent Income Hypothesis  (iii) ]. Duesenberry
(d) Wealth Effect (iv) J. M. Keynes
Codes :
(@ (b) (o) (d)
O (v @ 0 G
@ O @ @) (G
@) ) @ O
@ O G (v G
g 2
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35.

36.

37.

38.
39.

40.

41.

yous ]

et - 1 & g - 1 9 gafad Y ok 98 3| &1 997 &

Tt - 1 T - 11

(a) STAPE AR *1 MYfT 9& () Efae et
(b) AT SATIR I AT 94 (i) ITA TH TThE ARTA
(c) ST IR Hi HTHR AN (iii) Sft. TR
(d) TP AR HT IRAfae AFK (951d  (iv) Tehe AR T8 Toad
e :

(@ () (9 (d)
1 @ (@v) @) (i)
2 @ (v) () (i)
G) @v) @) @) (i)
4) (v) (1) @) (i)
FOYH | =g fefated 5 9 forg fagid o Igam §) Faitys giafead giar g 2
(1) F9H HHid @& (2) HHM SAUIdHR @
(3) HHM 99U AT (4) 0§ 9 B el
TEHR § Hag guft fferr fored st €
(1) <k o (2) wHf®a Ffy (3) oARfEeRa ffy (4) TS @
2004 3R 2013 &1 31afy % <A Afyges frafa § wra #1 e fr=fafas w9 § 9 @ -
(1) 0.8 gfaea ¥ 1.7 gfaea (2) 1.0 gfae@ ¥ 2.5 gfawd
(3) 1.0 gfae@ ¥ 1.5 gfaea (4) 1.2 gfaea ¥ 2.1 gfaea
‘S awifén’ | arerd ®
(1) wfeenet & faT T e seie (2) e TS & faT T TR

(3) wfgenel & gfd AeWe & faw Tk SuwT (4)  qESl U9 Afgernsd & o guk deie
forehTa o HifeT FalTeh hH 1 dIgeht YR | ford &1 o1 fashmd gem § 2

(1) frama &= (2) Tnfue &= @) fedros &= (4) e &=
el fow e 2 § A W Fe w1 T HA g G - 1 B G - 11 D gAferd B
T - 1 Tt - 11
(a) Tl ST () TH wieHd
(b) TSR guE (i) T = fy
(c) Tml ™ IRk (iii) S ST
(d) | 99 (iv) . TH &=
< :

@ b © @
) (v i) 6 ()
@ O @ @) ()
) (v G) ) i)
@ 0 @) @ G
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42. An over-valued currency will have which of the following effects :
(1) Make exports and imports equally costly
(2) Make exports and imports equally cheaper
(3) Make imports relatively more costly
(4) Make imports relatively cheaper.
43. According to Pribisch-Singer thesis which of the following is true ?
(a) International trade has increased international inequalities and has retarded the
development of developing countries.
(b) The strategy of import substitution has resulted in misallocation of resources within a
developing country.
Codes :
(1) Both (a) and (b) are true. (2) Only (a) is true.
(3)  Only (b) is true (4) Both (a) and (b) are not true.
44. Assertion (A) Marshall-Lerner condition should be fulfilled if devaluation is to be
successful.
Reason (R) : Devaluation makes exports costly and imports cheaper.
Codes :
(1) Both (A) and (R) are correct
(2) Both (A) and (R) are not correct
(3)  (A) is correct but (R) is not correct explaination of (A)
(4) (A) is correct and (R) is the correct reason of (A)
45. Productivity changes in domestic export industry are incorporated in which types of terms
of trade ?
(1) Income terms of trade (2) Single factoral terms of trade
(3) Gross barter terms of trade (4) None of the above.
46. The proposed GST bill will subsume :
(1) Entertainment tax (2) Value-added tax
(3)  Union excise duty (4) All of the above.
47. Select the pair of economists, who first gave the canons of taxation and public expenditure :
(1) R. N. Bhargav and R. A. Musgrave
(2) Adam Smith and Findlay Shirras
(3) A. C. Pigou and David Ricardo
(4) A.R. Prest and Ursula K Hicks
48. Following are some of the effects of parallel economy in India :
(a) Loss of revenue to the Government
(b) Greater burden on honest tax-payers
() Results in equitable distribution of wealth and income
(d) Encouragement to non-essential items of conspicuous consumption.
Find the correct Combination from the codes given below :
1) @ Gand@© (2 @ Gand(d) (3) () and(d) @) (a)and (d
pous I\HII\||HH|\||HH|||! I 1 Faper




42. Iffeaa qg1 w1 frefafed 8 § &F-91 99 86
(1) [ AR APE T G M (2) T SR S| 99 ® 9 9 /W1 8
(3) ST i WU Y F HEM G (4) ST H AUTRTE T T T G
43. Tafew - foR vy % orqER frfafaa & 4 &9 9& €2
(a) AT AR 7 FRE STHAA ! T § AR fahrasial <o o fowrd &l steeg fhan g
(b) ST YTawTTe &1 SR o TROTEEY fashmesia <91 # Ffequl sfeed g ©
?f:(a)aﬁub)aﬁa@% (2) A (a) TE R
3) A (b) WE 7 4) (a) ¥R (b) I TE T &
44, fumem (A) : 9 OHTEA # UHA S § O ARfA-aR I g0 e e |
HIUT (R) :  Ta9ead faid sl 78 3R T i §&1 Il ¢ |
fz (A) 3R (R) S w&t €
@) (A) 3R (R) SH TE T 7
(3) (A) T T R (R), (A) I T =ATEA T 7
(4) (A) T 3R (R), (A) FT TE =TS
45. wq frafd S # Scaesrdr aRadd SR &t o vt # wwfas 2 € 2
(1) 3™ & AR ¥ (2) TUHA HIEA AR IS
(3) WHha ax-fafma AR Id (4) W H 9 B &l
46. YEAIfaq S.wE. 3. fades o wiva g -
(1) TARSH X (2) Hoaardd & (3) HE IR Yok (4) STHF H G |t
47. ANl % 39 gH H TI9 B SR T8ell IR HAUHE TS Fesih a4 o i () @@
gfaare foran -
(1) ¥R . WFE T R T, 799 (2) TUeH Wy 1§ fhred BRI
(B) T . f @ 2fae Rt (4) T IR IE TF Yo . feod
48. frfafed § 9 3© IR0 § GAHRR STdTaed & 99 2|
(a) IR S TS &I HE (b) SHMSR G W 3T1fHeh o
(c) FHf AR o1& &AM foaeo (d) UM IUHN HI STAEYTS TRl I FiedTed
feu 7T e @ W g H g H
1) (@, (b) ¥ (o) (2 (@), (b) ¥R (d)
(3) (b, (c) 3R (d) 4 (a) ¥R ()
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49. Reference period for the Neonatal Mortality Rate in India is :
(1) Three months after birth (2) One month after birth
(3) 28 days after birth (4) None of the above.
50. Recently launched “Indradhanush” programme is related with :
(1) Production of medicines
(2) Vaccination against fatal diseases
(3)  Multivocational training for adolscent girls.
(4) None of the above.
51. Who suggested to Government of India to introduce expenditure tax ?
(1) N. Kalder (2) J. R. Hicks (3) B Hanson (4)  Ursula Hicks
52.  Which of the following new financing agency provide finance to micro and small business ?
(1) SIDBI 2) MUDRA 3 NABARD (4) KCC
53. Who said, “Inflation is unjust and defletion is inexpedient” ?
(1) A.K. Sen (2) J. R. Hicks (3) A.C. Pigou (4) J. M. Keynes
54. Consider the following reasons of continuous decline in average land holding rise in India.
Answer from the code given below :
(a) Law of Inheritance (b)  Consolidation
(c) Farm Mechanization (d) Desire for land ownership
Codes :
(1) (a) and (b) (2) (a) and (d)
(3) (@), (b), () and (d) 4) (@) (c) and (d)
55. Central Governments’ situation is likely to be stressed because of :
(1) Implementation of the recommandations of the Seventh Central Pay Commission
(2) Larger devolution to the states arrising out of recommandations of the Fourteenth
Finance Commission.
(3) Compensation to the states on implementation of GST
(4) All of the above.
56. Which tax is imposed solely by the Government of India ?
(1) Sales Tax (2)  Excise Tax (3) Custom duty  (4) Octroi duty
57. GST in India will be characterised by which of the following features ?
Choose the correct answer from the codes given below :
(a) There will be a dual GST with Centre and the state.
(b) It would be a destination based tax as against the origin based tax.
(c) It would apply to all goods and services excluding alcohol for human consumption.
Codes :
(1) All the above are correct. (2) Only (a) is true.
Both (a) and (b) are true. (4) Only (b) and (c) are true.
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49. 9RG H TFaoa oy gog-< w1 Heof erafy wn §2
(1) <9 & 915 o 7eH (2) & 9% TH HEH
(3) 3 % & 28 faq (4) o= H 9 wrE el
50. T H Ry fohan o ' suw ! wriw frefated o 9 fees dafiq §
(1)  Siferl &1 Screa
(2) =rde STHIRE | oErE 5 fae SR
(3) TwenfEi & fag =g =t gikem
(4) STF H 9 & T
51. fr=fafed § 9 fhen IR SR &1 =99 T 1 3TRY 3 &1 g fean?
(1) TH &eeX 2) . R few (3) @t & (4) Sen fesd
52. frefafed § 9 =0 o 741 famdeo TS 59 @ @Y AR & fae faa gear &
(1) faes 2) Ha (3) HErE 4) forum shfee &€ (&, €1 #.)
53. s wa ‘' qeTewifa STt § oiR faewifa sifeqse 8717
1) T 97 2) . R fem (@) T . fa (4) . TH &
54. 9RA H 3i9d Sd & TR § FR@ firree & frefafad srol w faar w8 = fir 2 § 8 s
(a) SOUTYHR HA (b) HHHRA
(c) Wl T HEfrRToT (d) g e i 3=
%< :
(1) (a) ¥R (b) (@) (2 ¥R ()
(6) (@) () (©) 3R (d) (4 (@) (©) ¥R (d)
55. w5 TXHR i AR el & @ @At qeren fh Sron 9 €
(1) Had =1 oqd AN i FawEn 1wt |
(2) <iced faa A 1 FHwRIREl % R0 Tl 1 ST SATE= |
(3) o 3R Tl F (SAUHA) F HAFTIA F HRO A I &faafd |
(4) S g+t
56. T G H HAA YRA THR FRT ST ST & ?
(1) fost =2 (2) SR A (3) WY (4) =
57. 9RA ¥ g% AR Fa1 w (Seget) &t fFafataa § 9 @ fovma € 2
e faw T el | W I H T w
(a) o= IR T T et ST e Bhf |
(b) ST ST R o faeg I8 T snenfid T 2|
(c) I TMHE IUNM & AU sTeenied 1 Sieht dsft axqeli IR Fansii | a1 E |
%<
(1) ST 9t ¥ B (2) HIA (a) TA B
(3) (a) 3R (b) IH T T | (4) FA (b) 3R () TA T
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58. Consider the following :
(a) Interest rate on bonds
(b) Rate of inflation
(c) Ratio of savings to investment
The velocity of money according to Friedman depends upon which of the above factors ?
Choose the code to answer.
Codes :
(1) (@), (b)and () (2) (b)and (c) (3) (a) and (b) (4)  Only (o)
59. Which country introduced paper currency system first in World ?
(1) England (2) USA (3) India (4) Sweden
60. The 2014 Nobel Prize in Economics was awarded to :
(1) Lars Peter Hansen (2) Jean Triole
(3) Alvin E. Roth (4) Paul Krugman
61. In environmental economics Herman Daly has formulated :
(1) Step up approach (2)  Space utilisation approach
(3)  Ecological approach (4) Steady - state approach
62. High powered panel to select the non-executive chairman of public sector banks has been
constituted by Government under the chairmanship of :
(1) C. Rangarajan (2) Raghuram Rajan
(3) Bimal Jalan (4) Y. V.Reddy
63. Assertion : The share of women in decision making process is gradually increasing.
Reasoning : Greater inclusion of women involves greater share of gender budget in
general budget.
Of the above statements, which one is correct :
(1) Both (A) and (R) are correct and (R) is correct explaination of (A)
(2) Both (A) and (R) are correct and (R) is not the correct explaination of (A)
(3)  (A) is true but (R) is false
(4) (R) is true but (A) is false.
64. India’s ‘Green Actions’ can be made effective by :
(1) Increase in excise duty on petrol and diesel
(2) Translating coal cess into a ‘carbon tax’.
(3) Significantely promoting the renewable sources of energy.
(4) All of the above.
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58. Ti=fafEad W faur 1 :
(a) ¥ =AW R
(b) HETERITd i ST
(c) wEa-Terer Tum
WIS & STTER T o fofe Sugda qei W R et €2 92 SR & faw F2l &1 = L)
f | @, (b) () () (b) IR () (3)  (a) 3R (b) (4) F94 (o)
59. Twa < A fava o 9ayem HFTST qE1 1 J=ed TRy TR ?
(1) 3z 2) €. T (3) ¥Rd (4) wred
60. TH 2014 T ALV *1 A9 R fh8 9eH e T o1 ?
(1) AR (2) IR (3) UM g O™ (4) A T
61. TATGRUNY Tfeme | A Sal A Wiaded fhan &
(1) ¥9eTd SYFH (2) T YEN I
(3) RfEerfersht SaTTH (4) T - A I
62. TIHR A WAk &5 & Soh] o TR-FERN 27e98] & 999 & fau forment sremerar ° S=nfesr O9d
TMfed HT € :
1) . GrsH (2) T TS (@) foHa s (4) @ & IS
63. orfuemem (A) :  Trofa o = wfwan H Afecnet = fe@er) oi-4R 56 Wi R
ST (R) : WAfeansti % SATET A BH 1 qcad famenia seie Tt W asie | STl
SRS
Y el W W G
(1) (A)#R (R) T W& € 3R (R), (A) BT HE =0 €|
(2) (A) 3R (R) T WE € 3R (R), (A) F1 Gl A T FTM € |
(3) (A) T T AfFA (R) 319
(4) (R) ¥ T Afd (A) 318 T
64. YRA % ‘T TR’ HI JHEHR TR S Fhdl ¢
(1) U2 iR SNa W A Yook | gfg =
(2) I IYH HI ‘HreA H' H IRafdd T
(3) il o TSRO Il I HiedTied |
(4) SodEd gt
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65. Which of the following are the conditions of economic viability and technological feasibilty
of Leontief’s static model ?
(1) Kuhn - Tucker conditions
(2) Hawkins - Simon conditions
(3) Klein - Rubin conditions
(4)  Von Neumann - Mogenstern conditions
. , _1 -y , :
66. Given the demand function as p = Zq , consumer’s surplus at q=25is :
(1) 1.12 (2) 1.25 B 1 (4) 0.5
67. Given the demand function as p=20—2q, the average and marginal revenue at q=3 are
respectively :
(1) 6and 12 (2) 7and 12 (3) 8and 14 (4) 11 and 15
68. Which of the following is true in the context of statistical tests of hypotheses for two variable
linear regression model :
(1) t>F (2) t2<F (3) t2=F (4) t=F
69. Which is the correct form of model to test the stationarity of a time series through
Dicky-Fuller test ?
1) Y =AYt Q) Y=Yt B) Ye=ENLtre (@) AY =AYty
70. The term ‘best’ in the best linear unbiased estimators (BLUE) implies :
(1) Maximum variance of the estimators
(2) Minimum variance of the estimators
(3) Average variance of the estimators
(4) Unbiased variance of the estimators
71. Match the following and answer from codes given below :
List - I List - II
(a) Durbin’s h test (i) Heteroscedasticity
(b) Goldfeld-Quandt test (i) Overall significance of a regression
(c) F-Test (iii) Stationarity of a series
(d) Dicky - Fuller test (iv) Auto - correlation in auto-regressive models
Codes :
@@ (b)) (o (d)
M O @) @) G
@ () @) O )
@) ) (O @ )
@) (W) ) @ 0
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65. Trfafad & @ o foaif=w *1 wWifas atea =t snfede reagriar iR Jrnfsm g &1 od § 2
(1) F - gHF (2) @R - A o
(@) A - wfeq wd (4) M A - A=A o
66. &= 7o WM FeE § p = %q_%,q=25 TR YT F AT |
1) 112 2) 1.25 G) 1 4) 05
67. T ®AH % p=20—2q % ST TH W q=3 T HEd IR HE= ST H T4 HEA: A0
1) 6 3R 12 2) 7 dR12 (3) 8 3R 14 4) 11 3R 15
68. T TR G FHIFAV Hied % o giehed % wifers! wiam % wed # frefafea § @ wn w@t §2
(1) t>F (2) t2<F (3) t2=F (4) t=F
69. Temi-TeR TiaTor o HeaH ¥ wASo F feerdl 1 Sed % fau w1 91 Aied ¥ © 2
1) Y, =AYt Q) Y=Y thm B) Y=hagtre (B AY, =AYty
70. & fronet s (St T g %) H watow' U &1 aed ¢
(1) ATeReTh 1 f¥ehan fa=ro (2) ATRAI® T A =R
(3) oMeHeTsh 1 AHd fereror (4) e 1 Fore faE
71. Trefafaa w1 gafed w3 o e fog 7u e @ 9 S we w
T - 1 Tl - 11
(a) =fe =1 To () forom fornferant
(b) TieShee - e TU&TT (i) UIETHEA i THT Fiefwd
() TH - W& (iii) St bt feora
(d) Tl Fert ghiam (iv) @ gfaTH! Afed o @a: "eaeay
%<
@@ (b) (o) (d)
1 @ @ @v) (i)
(2 G @v) (@) (i)
G) (v) @O @) (i)
(4) (D) (@v) @) @)
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72. In a simultaneous equations system for an over-identified equation the appropriate method
of estimation is :
(1) Ordinary Least squares Method
(2) Indirect Least Squares Method
(3) Two-stage Least Squares Method
(4) Limited information maximum Likelyhood Method
73.  Which of the following statements are true concerning a recursive system ?
(a) The parameters can be validly estimated using seperate application of OLS to each
equation
(b) The independent variables may be correlated with the error terms in other equations.
() An application of 25LS would lead to unbiased but unefficient parameter estimates.
(d) Theindependent variables may be correlated with error terms in the equations in which
they appear as independent variables.
(1) (b) and (d) only (2) (a) and (c) only
(3) (@) (b) and (c) only (4) (@), (), (©) and (d)
74. In a multiple regression the regression coefficients are to be tested. Which test would be
used ?
(1) Ftest (2)  x?(Chi-square)test (3) dtest (4) ttest
75. In CES production function
_r
Q=AHX{"+ (1-a)X;H »
Where Q is output and X; and X, are labour and capital, choose the correct alternative from
given codes.
(a) Efficiency Parameter i n
(b) Distribution Parameter i p
(c) Substitution Parameter (i) o
(d) Returns to scale parameter (iv) A
Codes :
@ (b) () (d)
H @ @) Gv) (i)
(2) (@) (D) (i) (i)
(3) (v) (i) (i) (1)
@) () @) ) 0
-o00o-
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72.

73.

74.

75.

T JTIq g e # foret stfa-feifa avieto & seem &t 3faa fafa € -
(1) |THR =Ead a9 9§fa (2) SAICAE AGH o Tl
(3) fg - =i =Aaw =t ggfa (4) wifad g stferehan wrwTeAar ggfa

frnfda yomelt % wey # frafafed § @ &1 9w 9@l €2

(a) TIH FHIHRI o AT AR a1 ! Gk STIIART YA GU YT hl Sl § STehferd foham S
THA B |

(b) TS TR 3T FHRON | Ffe g F WY HeHa Hd o qohdl 7 |

(c) 2SLS % ST{UAN ¥ freust Afeh STH¥Tel WTaell 1 STehete &R |

(d) Td =R H 3T gHIRON | 9 9 T Wk % €9 H Tk B § Ife ue F Wiy wede g
foan < wahd €

(1) e (b) 3R () (2) F (a) 3R ()

(3) FIA (a), (b) 3R () @ (@ (), () 3R (d)

g =R T B FTerTH T[rien] o1 qlteror foman < 2 1 forr ateTon =T Wi 20 ?
(1) Fwem 2) x? (= =) wdem

(@) d ey (4) todem

1.3.09. 3T e o

Y
Q=AHX;"+(1-a) X, H »
SR Q 3eIeT SR X, AR X, ™ R gsft 7 ) fou 1w e § Wl foered 1 =97 +{|

(a) <& 9T G w
(b) feror g i) p
(c) fdeeTTd g (i) «
(d) Y9 & Yfdwa & e (iv) A
e :

(@ (b) () (d)

1 @ @@ (@v) (i)
(2) (@) @) (i) (iv)
(3) (v) (i) (i) (1)
4) @) @) @) @
-o0o-
vouss [ IR 2



Space For Rough Work

g T 2



